L
7 7
@:V _ Wl oo e T e =
3 3 Em 8
[ @ 4540 100f| 11900 100 2646 - 4540 8
3 s = -~
R o CnanbHs { N 7
o
g = 12,71 M2 g cy [ =
™) mEsp] > I ™) -~
b (6,71 M f 1020 R
0 |
S —— u] 4
b i [} 2 540 /I|,
B+ T — = ] > g
§ | 3 1020 ©
S = F
Q | 5 Xonn ~
N
o | § 13,19 m? | CnarnbHs
Q
O g § | . 35,50 M2
Bt +—-f-d— - 5 =]
L 1200 =4
o o C\y
3 S 8,24 M2
~N ~N ’
4540 100 4040 100 4540
B N - S N
AT A TTTT!TTT T%TTTTTTTTTl
' 500 1000 500 '
770, 3 000 L, 11890 |, L, L, 1890 3 000 770
9 7 7 | T A (- 7
g PN | | |
N
| | |
hy r " r
_ — —-[|.| L (B ; |..I
~ I
4 540 4 240 4 540
13 320
L 13 920 L
& @ ® (&)
WHanBuayanbHbI Xunon gom B r. Belkca
Hwxeropoackon obnactu.
Cragus | Juet Jlnctos
3aka3uuk |Kysbmnues Mn
rnn LLlepBakos NnaH 2 aTtaxa 000 "AT-CTpoii”
WcnonH. |Bbenosa




